1. Suppose the graph below is the graph of a function y = g(x).

(a) Fill in the missing y-coordinates as best you can.
(b) Find the equation of the indicated line.

(c) What if, instead of 2 and 7, we have unknown constants a and b?

2. Find all solutions z to the equation 2sin(5z) — 1 = 0. Give ezact values,
in terms of 7, not decimal approximations.



3. Consider:
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y = fi(z) y = fo(x)

fa(x) = 2% — 2% — 2 falx) = 2t + 2% — 42? — 4z

T f5(x) T fo(z)
2.7 0.8090 I 11C) By v e - I (1C)
0.3 | —0.8090 0.3 | —1.5249

_2.4| 009511 —1.9 | —0.6669
0.6 | —0.9511 0.8 | —4.8384

—21 ] 0.3090 ~1.7 | —1.3209
0.9 | —0.3090 0.9 | —5.4549

1.8 | —0.5878 ~1.3 | —0.9009
12| 0.5878 1 _6

~15 1 12| —0.6144
ol s 10 1 ; , 17| =5.0019
18| 0.5878 1.9 | —2.1489

—0.9| 0.3090 _04| 0.9216
2.1 | —0.3090 21| 2.6691

_0.6| 0.9511 _0.3| 08211
03| sy 24| —09511 01| _oasg 25| 196875
' ' 2.7 —0.8090 ' ' 2.6 | 25.8336

0 0 0.2 | —0.9504

Match the functions from among f1, fs, f3, f1, f5, f¢ that are most likely
to be equal. Explain your reasoning; in particular, explain why functions
that you think are not equal are not equal.



